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Sample data:

Bridge-Thickness Experiment

- 50
-'é’,\ 40
Bridge- Thicknakd Exﬁelrmiht-} | i'g 30
‘ l A) A -: 20
Thickness (layers) | 1 | 2 YN §§10 R 3o
Breaking Weight 8 ponues
(pennies) 9|16 |24 |34 |42 R 5 Cor
hick I
VvV V v Thickness (layers) 25
) 44 ﬂv#%
|ayu5

( Does the relationship between the number of layers and the breaking

weight seem to be linear or nonlinear? How do the graph and the table
show this relationship?
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(C) Suppose you could split layers of paper in half. What breaking weight
would you predict for a bridge 2.5 layers thick? Explain.
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Problem 1.1 Wrap Up
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Because in our experiment we cannot have a portion
of a thickness of a sheet of paper, or a portion of a
penny, we cannot connect our data points.
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Page 16, # 2

2. Agroup of students conducted the bridge-thickness experiment with

construction paper. The table below contains their results.

Bridge-Thickness Experiment
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Number of Layers 1] 2

Breaking Weight (pennies) PP
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a. Make a graph of the (number of layers, breaking weight) data.
Describe the relationship between breaking weight and number

of layers.

b. Suppose itis possible to use half-layers of construction paper.
What breaking weight would you predict for a bridge 3.5 layers

thick? Explain.

c. Predict the breaking weight for a construction-paper bridge of

8 layers. Explain how you made your prediction.
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